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ofef 1} Zo] AB & AFLE st 9 0 YABOC =
~ ~~

30°, 5.0ptBC = 5cm, AD//OC ¥ W, 5.0ptAD 2] Zo]& 5}
SE

X
acm
A = L
@ 10cm @ 15 cm ® 18 cm
@®)20 cm ® 22 cm

H09DE AZs= AR 0D & 194
AD //OC °|E&2 /OAD = /BOC = 30°
AAOD £ A0 =DO ¢ o] 5ol m g
/OAD = /ODA = 30° o]t}
AAOD ©f| A
£/AOD = 180° — (30° 4 30°) = 120°
VN 7N\
w2k 30 : 120 = 5 : 5.0ptAD ©A] 5.0ptAD = 20(cm) ©|t}.
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TS el Hvhd O oA AB//OC ©]1 /COD = 45° ¢ uf,
VN VN 7N\
5.0ptAB : 5.0ptBC : 5.0ptCD 2] H]+=?

@2:1:1 @ 2:2:1 ® 3:1:1

HO9A A BE JZ5IH AAOB = olsHAZAFoltt, 18
11 AB//OC °|E& ,COD = /BAO = 45° o|t},
/AOB = 180° — 45° — 45° = 90° o|t}.

VN Y N
whA] 5.0ptAB : 5.0ptBC : 5.0ptCD = 90° : 45° : 45° = 2 :
1:1 o]t}




@ 6cm @)8cm ® 10cm @ 12cm ® 15cm

H 0o A CE AdEsHE aAOC = ol THAAT
AC//OD °]|E& /CAO = /DOB = 50° ©]1, /AO
180° - 50° - 50° = 80° ©|t}.,

wrehA] 50°:80° =5 : 5.0pt.@, 5.0pt1§5 = 8(cm) °Jtt.




